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Run 6119 mpswise, acc(: Beam OFF
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Run 6119 mpswise, BCM: All Run 6119 mpswise, BCM: Beam OFF
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Run 6119 mpswise, lasPow: All Run 6119 mpswise, lasPow: Beam OFF

[

10
= 22000 =
| - Endries: 3TEEEE — - Entrie=s: 408035
140 [ Maan: 10670231 4k 1,667 20000 :_ Mean: 7495007 4/~ 4.6483
: Sid Dew: 10182710 ++ 11743 1 El:H]ﬂ :_ Sid Dev- S7000997 /- 3 42E3
120 — —
- 16000 —
100 — i 14000
" L 12000 =—
— 10000 :—
60— 8000 —
40— i 6000 |—
— 4000 [—
20— —
- 2000
ﬂ B | 1 | | | | | | 1 | | I N I | | | | | C1 1 | D : | — 1 | 1 | | | | | | | | —-|-|—| | | 1 | | |-| |
0 500 1000 1500 2000 0 500 1000 1500 2000
cavPowerCalibrated cavPowerCalibrated
Run 6119, mpswise, lasPow: Beam ON, Laser ON Run 6119, mpswise, lasPow: Beam ON, Laser OFF
#1 ﬂa
90000 - Entries: 164515 B _ Entries: 148343
80000 :— Mean: 20086423 o/ 01632 120 N Mean: 10.0027 +/- 00245
0000 - Sid Dev: 66,1954 o~ 01154 B Sid Dev: 54513 +- 0.0174
= 100 —
HOD00 [— B
— BO—
50000 F— B
40000 i 60—
30000 = 40—
20000 - -
10000 — —
D:|||._|J..||JJ.|_||||||||||||||||||||||||||-|| i 11 'D_"L""l""l"'Illllllllll"
1400 15 1600 1700 1800 1900 2000 2100 2200 —20 10 0 10 20 30

cavPowerCalibrated cavPowerCalibrated



160

140

120

100

B0

60

40

20

12000

10000

BOOO

6000

4000

2000

®,
—t
I::L_.

Run 6119 mpswise, bpmAx: All
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Run 6119 mpswise, bpmAy: All
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Run 6119 mpswise, bpmBx: All Run 6119 mpswise, bpmBx: Beam OFF
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Run 6119 mpswise, bpmBy: All Run 6119 mpswise, bpmBy: Beam OFF
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Run 6119 mpswise, beam OFF, laser ON Run 6119 mpswise, beam OFF, laser OFF
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Run 6119 mpswise, beam ON, laser ON Run 6119 mpswise, beam ON, laser OFF
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Run 6119 mpswise, beam ON, laser ON
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Run 6119 mpswise, beam ON, laser OFF
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Run 6119 mpswise, beam ON, laser ON
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Run 6119 mpswise, beam OFF, laser ON
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Run 6119 mpswise, beam OFF, laser OFF
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Run 6119 mpswise, beam ON, laser ON Run 6119 mpswise, beam ON, laser OFF
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Run 6119 mpswise, beam ON, laser ON Run 6119 mpswise, beam ON, laser OFF
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